



A note on generalized k -Horadam sequence

Yasin Yazlik*, Necati Taskara

Department of Mathematics, Science Faculty, Selcuk University, Campus, 42075, Konya, Turkey

ARTICLE INFO

Article history:

Received 24 June 2011

Received in revised form 13 October 2011

Accepted 20 October 2011

Keywords:

Generalized k -Horadam sequence

Generating function

ABSTRACT

In this paper, we define generalized k -Horadam sequence $\{H_{k,n}\}_{n \in \mathbb{N}}$. After that, we study the properties of the generalized k -Horadam sequence and prove some of these properties by means of determinant. Also, we obtain a generating function for the generalized k -Horadam sequence.

© 2011 Elsevier Ltd. All rights reserved.

1. Introduction

There are so many studies in the literature that concern about the special second order sequences such as generalized k -Fibonacci and k -Lucas, k -Fibonacci, k -Lucas, Generalized Fibonacci, Horadam, Fibonacci, Lucas, Pell, Jacobsthal and Jacobsthal–Lucas sequences (see, for instance, [1–13]). For rich applications of these numbers in science and nature, one can see the citations in [14–20]. For instance, the ratio of two consecutive Fibonacci numbers converges to the Golden section $\alpha = \frac{1+\sqrt{5}}{2}$. The applications of the Golden ratio appear in many research areas, particularly in Physics, Engineering, Architecture, Nature and Art. Physicists Naschie and Marek-Crnjac gave some examples of the Golden ratio in Theoretical Physics and Physics of High Energy Particles.

In this paper, we define a generalization $\{H_{k,n}\}_{n \in \mathbb{N}}$ of the special second order sequences such as generalized k -Fibonacci and k -Lucas, k -Fibonacci, k -Lucas, Horadam, Fibonacci, Lucas, Pell, Jacobsthal and Jacobsthal–Lucas sequences. For these numbers, we obtain generalized Binet formula. In addition to this definition, we investigate the some new algebraic properties via a determinant for the generalized k -Horadam sequence.

2. Main results

In this section, we define a generalization $\{H_{k,n}\}_{n \in \mathbb{N}}$ of the special second order sequences. Also, we obtain some equalities related with this generalization. Now, we note that most of the following preliminary material is actually defined the first time.

Definition 1. Let k be any positive real number and $f(k)$, $g(k)$ are scalar-value polynomials. For $n \geq 0$ and $f^2(k) + 4g(k) > 0$, the generalized k -Horadam sequence $\{H_{k,n}\}_{n \in \mathbb{N}}$ is defined by

$$H_{k,n+2} = f(k)H_{k,n+1} + g(k)H_{k,n} \quad (1)$$

with initial conditions $H_{k,0} = a$, $H_{k,1} = b$.

* Corresponding author.

E-mail addresses: yyazlik@selcuk.edu.tr (Y. Yazlik), ntaskara@selcuk.edu.tr (N. Taskara).

The equation in (1) is the second order linear difference equation and its characteristic equation is follows

$$\lambda^2 = f(k)\lambda + g(k). \tag{2}$$

This equation has two real roots as $r_1 = \frac{f(k) + \sqrt{f^2(k) + 4g(k)}}{2}$ and $r_2 = \frac{f(k) - \sqrt{f^2(k) + 4g(k)}}{2}$ ($r_1 > r_2$). It means that the following relations hold for the numbers r_1, r_2 :

$$r_1 + r_2 = f(k), \quad r_1 - r_2 = \sqrt{f^2(k) + 4g(k)}, \quad r_1 r_2 = -g(k). \tag{3}$$

Particular cases of the previous definition are

- If $f(k) = k$ and $g(k) = 1$, the generalized k -Fibonacci and k -Lucas sequence is obtained

$$G_{k,n+2} = kG_{k,n+1} + G_{k,n}, \quad G_{k,0} = a, \quad G_{k,1} = b.$$

- If $f(k) = k, g(k) = 1, a = 0$ and $b = 1$, the k -Fibonacci sequence is obtained

$$F_{k,n+2} = kF_{k,n+1} + F_{k,n}, \quad F_{k,0} = 0, \quad F_{k,1} = 1.$$

- If $f(k) = k, g(k) = 1, a = 2$ and $b = k$, the k -Lucas sequence is obtained

$$L_{k,n+2} = kL_{k,n+1} + L_{k,n}, \quad L_{k,0} = 0, \quad L_{k,1} = k.$$

- If $f(k) = p$ and $g(k) = q$, the Horadam sequence is obtained

$$H_{n+2} = pH_{n+1} + qH_n, \quad H_0 = a, \quad H_1 = b.$$

- If $f(k) = 1, g(k) = 1, a = 0$ and $b = 1$, the Fibonacci sequence is obtained

$$F_{n+2} = F_{n+1} + F_n, \quad F_0 = 0, \quad F_1 = 1.$$

- If $f(k) = 1, g(k) = 1, a = 2$ and $b = 1$, the Lucas sequence is obtained

$$L_{n+2} = L_{n+1} + L_n, \quad L_0 = 2, \quad L_1 = 1.$$

- If $f(k) = 2, g(k) = 1, a = 0$ and $b = 1$, the Pell sequence is obtained

$$P_{n+2} = 2P_{n+1} + P_n, \quad P_0 = 0, \quad P_1 = 1.$$

- If $f(k) = 1, g(k) = 2, a = 0$ and $b = 1$, the Jacobsthal sequence is obtained

$$J_{n+2} = J_{n+1} + 2J_n, \quad J_0 = 0, \quad J_1 = 1.$$

- If $f(k) = 1, g(k) = 2, a = 2$ and $b = 1$, the Jacobsthal Lucas sequence is obtained

$$j_{n+2} = j_{n+1} + 2j_n, \quad j_0 = 2, \quad j_1 = 1.$$

We can find the more information associated with these sequences in [16,2–4,19].

Now, we give the Binet formula for the generalized k -Horadam sequence. Firstly, let us first consider the following Lemma which will be needed for the Binet Formula.

Theorem 2. For every $n \in \mathbb{N}$, we can write the Binet formula

$$H_{k,n} = \frac{Xr_1^n - Yr_2^n}{r_1 - r_2},$$

where $X = b - ar_2$ and $Y = b - ar_1$.

The following lemma will be used to prove the above theorem.

Lemma 3. Let r_1 and r_2 be roots of Eq. (2). Then, we have

$$H_{k,n} = r_1 H_{k,n-1} + (H_{k,1} - r_1 H_{k,0}) r_2^{n-1}. \tag{4}$$

Proof. By using (3), we write to equation in (1) as follows:

$$H_{k,n} = (r_1 + r_2) H_{k,n-1} - (r_1 r_2) H_{k,n-2},$$

$$H_{k,n} - r_1 H_{k,n-1} = r_2 (H_{k,n-1} - r_1 H_{k,n-2}). \tag{5}$$

Similarly, we can write

$$H_{k,n-1} = (r_1 + r_2) H_{k,n-2} - (r_1 r_2) H_{k,n-3},$$

$$H_{k,n-1} = r_1 H_{k,n-2} + r_2 H_{k,n-2} - (r_1 r_2) H_{k,n-3}. \tag{6}$$

By substituting Eq. (6) into (5), we get

$$H_{k,n} - r_1 H_{k,n-1} = r_2^2 (H_{k,n-2} - r_1 H_{k,n-3}).$$

After that, by continuing this reduction procedure, we obtain

$$H_{k,n} - r_1 H_{k,n-1} = r_2^{n-1} (H_{k,1} - r_1 H_{k,0}),$$

as required. \square

Proof of Theorem 2. In the above Lemma, by dividing by r_2^n both sides of (4), we have

$$\frac{H_{k,n}}{r_2^n} = \frac{r_1}{r_2} \frac{H_{k,n-1}}{r_2^{n-1}} + \frac{H_{k,1} - r_1 H_{k,0}}{r_2}.$$

Now, let us take $\frac{H_{k,n}}{r_2^n} = v_n$. Then we obtain the first order linear difference equation as follows:

$$v_n = \frac{r_1}{r_2} v_{n-1} + \frac{H_{k,1} - r_1 H_{k,0}}{r_2}.$$

The solution of this equation is given by

$$\begin{aligned} v_n &= H_{k,0} \left(\frac{r_1}{r_2} \right)^n + \frac{H_{k,1} - r_1 H_{k,0}}{r_2} \frac{\left(\frac{r_1}{r_2} \right)^n - 1}{\left(\frac{r_1}{r_2} \right) - 1} \\ &= \frac{1}{r_2^n} \left(r_1^n H_{k,0} + \frac{H_{k,1} - r_1 H_{k,0}}{r_2} (r_1^n - r_2^n) \right). \end{aligned}$$

Finally, we get

$$H_{k,n} = \left(\frac{H_{k,1} - r_2 H_{k,0}}{r_1 - r_2} \right) r_1^n - \left(\frac{H_{k,1} - r_1 H_{k,0}}{r_1 - r_2} \right) r_2^n,$$

as required. \square

Theorem 4. For $q > p \geq 0$, we have

$$\sum_{i=0}^n H_{k,pi+q} = \frac{(-g(k))^p (H_{k,pn+q} - H_{k,q-p}) - H_{k,pn+p+q} + H_{k,q}}{(-g(k))^p - r_1^p - r_2^p + 1}.$$

Proof. We will prove the above result using the Binet formula for the generalized k -Horadam sequence. Then

$$\begin{aligned} \sum_{i=0}^n H_{k,pi+q} &= \sum_{i=0}^n \frac{Xr_1^{pi+q} - Yr_2^{pi+q}}{r_1 - r_2} \\ &= \frac{Xr_1^q}{r_1 - r_2} \sum_{i=0}^n r_1^{pi} - \frac{Yr_2^q}{r_1 - r_2} \sum_{i=0}^n r_2^{pi}. \end{aligned}$$

From the sum of the geometric sequence, we get

$$\sum_{i=0}^n H_{k,pi+q} = \frac{Xr_1^q}{r_1 - r_2} \left(\frac{r_1^{pn+p} - 1}{r_1 - 1} \right) - \frac{Yr_2^q}{r_1 - r_2} \left(\frac{r_2^{pn+p} - 1}{r_2 - 1} \right).$$

By considering (3) and Theorem 2, we obtain

$$\sum_{i=0}^n H_{k,pi+q} = \frac{(-g(k))^p (H_{k,pn+q} - H_{k,q-p}) - H_{k,pn+p+q} + H_{k,q}}{(-g(k))^p - r_1^p - r_2^p + 1}. \quad \square$$

The following theorem gives us Cassini's identity for the generalized k -Horadam sequence.

Theorem 5. Let the entries of each matrix $X_n = \begin{pmatrix} H_{k,n-1} & H_{k,n} \\ H_{k,n} & H_{k,n+1} \end{pmatrix}$ be the generalized k -Horadam numbers. For $n \geq 1$, we get

$$|X_n| = (-g(k))^{n-1} (a^2 g(k) + abf(k) - b^2)$$

Proof. Let us use the principle of mathematical induction on m . For $m = 1$,

$$|X_1| = \begin{vmatrix} H_{k,0} & H_{k,1} \\ H_{k,1} & H_{k,2} \end{vmatrix} = (-g(k))^0 (a^2 g(k) + abf(k) - b^2).$$

It is easy to see that, for $m = 2$, we have

$$|X_2| = \begin{vmatrix} H_{k,1} & H_{k,2} \\ H_{k,2} & H_{k,3} \end{vmatrix} = (-g(k)) (a^2g(k) + abf(k) - b^2).$$

As the usual next step of inductions, let us assume that it is true for all positive integers m . That is,

$$|X_m| = \begin{vmatrix} H_{k,m-1} & H_{k,m} \\ H_{k,m} & H_{k,m+1} \end{vmatrix} = (-g(k))^{m-1} (a^2g(k) + abf(k) - b^2). \tag{7}$$

Therefore, we have to show that it is true for $m + 1$. In other words, we need to check

$$|X_{m+1}| = (-g(k))^m (a^2g(k) + abf(k) - b^2). \tag{8}$$

By considering elementary matrix row operations in (7), there are three steps for getting from (7) to (8). At first, the first row is multiplied by $g(k)$, then we multiply the second row by $f(k)$ so that we add the product to first row. Finally, two rows are swapped. At the first step the determinant is multiplied by $g(k)$, for the second step does not affect the determinant, and the last step changes only the sign which is desired. \square

When $f(k) = g(k) = 1, a = 0$ and $b = 1$, the above result reduces to a known Cassini's identity of Fibonacci numbers.

Theorem 6. Let the entries of each matrix $Y_r = \begin{pmatrix} H_{k,n+r} & H_{k,n} \\ H_{k,n+r+1} & H_{k,n+1} \end{pmatrix}$ be the generalized k -Horadam numbers. For $r \geq 0$, the following properties hold:

- (i) $|Y_{r+2}| = f(k) |Y_{r+1}| + g(k) |Y_r|,$
- (ii) $|Y_r| = (-g(k))^n (bH_{k,r} - aH_{k,r+1}).$

Proof. Firstly, let us show that the equality in (i) is satisfied.

(i) Let $A = f(k) |Y_{r+1}| + g(k) |Y_r|$ be the right hand side of equation (i), for $r \geq 0$, we write

$$\begin{aligned} A &= f(k) \begin{vmatrix} H_{k,n+r+1} & H_{k,n} \\ H_{k,n+r+2} & H_{k,n+1} \end{vmatrix} + g(k) \begin{vmatrix} H_{k,n+r} & H_{k,n} \\ H_{k,n+r+1} & H_{k,n+1} \end{vmatrix} \\ &= f(k) (H_{k,n+1}H_{k,n+r+1} - H_{k,n}H_{k,n+r+2}) + g(k) (H_{k,n+1}H_{k,n+r} - H_{k,n}H_{k,n+r+1}) \\ &= H_{k,n+1}(f(k)H_{k,n+r+1} + g(k)H_{k,n+r}) - H_{k,n}(f(k)H_{k,n+r+2} + g(k)H_{k,n+r+1}). \end{aligned}$$

By using (1), if we rewrite this last equality, then we get

$$\begin{aligned} f(k) |Y_{r+1}| + g(k) |Y_r| &= H_{k,n+1}H_{k,n+r+2} - H_{k,n}H_{k,n+r+3} \\ &= |Y_{r+2}|, \end{aligned}$$

as required.

(ii) We need the follow induction steps on r . For $r = 0$, it is easy to see that $|Y_0| = 0$. For $r = 1$, by using Theorem 5, we can write

$$\begin{aligned} |Y_1| &= (-g(k))^n (b^2 - a^2g(k) - abf(k)) \\ &= (-g(k))^n (bH_{k,1} - aH_{k,2}). \end{aligned}$$

As the usual next step of inductions, let us assume that it is true for all positive integers r . That is,

$$|Y_r| = (-g(k))^n (bH_{k,r} - aH_{k,r+1}). \tag{9}$$

Therefore, we have to show that is true for $r + 1$. In other words,

$$|Y_{r+1}| = (-g(k))^n (bH_{k,r+1} - aH_{k,r+2}).$$

By considering equation (i) and (9), we write

$$\begin{aligned} |Y_{r+1}| &= f(k) |Y_r| + g(k) |Y_{r-1}| \\ &= f(k) (-g(k))^n (bH_{k,r} - aH_{k,r+1}) + g(k) (-g(k))^n (bH_{k,r-1} - aH_{k,r}) \\ &= (-g(k))^n [b(f(k)H_{k,r} + g(k)H_{k,r-1}) - a(f(k)H_{k,r+1} + g(k)H_{k,r})] \\ &= (-g(k))^n (bH_{k,r+1} - aH_{k,r+2}), \end{aligned}$$

which ends up the induction and the proof. \square

It is notable that, taking m instead of $n + r$ in the above theorem, we get the d'Ocagne identity for the generalized k -Horadam sequences as

$$H_{k,m}H_{k,n+1} - H_{k,m+1}H_{k,n} = (-g(k))^n (bH_{k,m-n} - aH_{k,m-n+1}).$$

Also, for special values of $f(k)$, $g(k)$, a and b , we obtain the d'Ocagne identity for all special second order sequences. For instance, taking $f(k) = g(k) = 1$, $a = 0$ and $b = 1$, we get the d'Ocagne identity for the Fibonacci sequence as $F_m F_{n+1} - F_{m+1} F_n = (-1)^n F_{m-n}$.

Theorem 7. Let the entries of each matrix $Z_s = \begin{pmatrix} H_{k,n} & H_{k,n-r} \\ H_{k,n+s} & H_{k,n-r+s} \end{pmatrix}$ be generalized k -Horadam numbers. For $s \geq 0$, the following properties hold:

- (i) $|Z_{s+2}| = f(k) |Z_{s+1}| + g(k) |Z_s|$,
(ii) $|Z_s| = (-g(k))^{n-r} \frac{(bH_{k,r} - aH_{k,r+1})(bH_{k,s} - aH_{k,s+1})}{b^2 - a^2g(k) - abf(k)}$.

Proof. Proof of this theorem can be seen easily in a similar manner with Theorem 6. \square

It is notable that, taking $m - n + r$ instead of s in the above theorem, we obtain a generalization of some equalities such as d'Ocagne's and Catalan's equalities for the generalized k -Horadam sequences as

$$B = \frac{(-g(k))^{n-r} (bH_{k,r} - aH_{k,r+1}) (bH_{k,m-n+r} - aH_{k,m-n+r+1})}{b^2 - a^2g(k) - abf(k)}, \quad (10)$$

where $B = H_{k,m}H_{k,n} - H_{k,m+r}H_{k,n-r}$.

Also, as applications of (10) for the generalized k -Horadam sequence, we have the following results:

- Taking $n + 1$ instead of n and $r = 1$ in (10), we obtain d'Ocagne identity in Theorem 7.
- Taking n instead of m in (10), we obtain Catalan's identity.

Theorem 8 (Generating Function of $\{H_{k,n}\}_{n \in \mathbb{N}}$). The generating function of this sequence is given by

$$\sum_{i=0}^{\infty} H_{k,i} x^i = \frac{H_{k,0} + x(H_{k,1} - f(k)H_{k,0})}{1 - f(k)x - g(k)x^2}.$$

Proof. Let $H(x)$ be a generating function for the $\{H_{k,n}\}_{n \in \mathbb{N}}$ sequence. Then we write

$$H(x) = H_{k,n} = H_{k,0} + xH_{k,1} + \cdots + x^n H_{k,n} + \cdots. \quad (11)$$

If it is multiplying Eq. (11) with $f(k)x$ and $g(k)x^2$, respectively, then we have

$$f(k)xH_{k,n} = f(k)xH_{k,0} + f(k)x^2H_{k,1} + \cdots + f(k)x^{n+1}H_{k,n} + \cdots. \quad (12)$$

$$g(k)x^2H_{k,n} = g(k)x^2H_{k,0} + g(k)x^3H_{k,1} + \cdots + g(k)x^{n+2}H_{k,n} + \cdots. \quad (13)$$

Consequently, considering (11)–(13), the following equation is obtained

$$(1 - f(k)x - g(k)x^2) H_{k,n} = H_{k,0} + x(H_{k,1} - f(k)H_{k,0})$$

$$\sum_{i=0}^{\infty} H_{k,i} x^i = \frac{H_{k,0} + x(H_{k,1} - f(k)H_{k,0})}{1 - f(k)x - g(k)x^2},$$

as required. \square

If we take $H_{k,i+1}$ instead of $H_{k,i}$, $a = 0$ and $b = 1$ in the above theorem, the dynamic behavior of the one-dimensional family of maps $H_{f(k),g(k)}(x) = \frac{1}{1 - f(k)x - g(k)x^2}$, for specific values of the control parameters $f(k)$ and $g(k)$ is obtained. Besides, in this study it is observed that, as the parameters vary, the behavior of maps progresses from periodicity through bifurcations to a state of chaos. Period doubling bifurcations and periodic windows are visualized in a manner similar to the logistic map in [19].

Acknowledgments

This research is supported by TUBITAK and Selcuk University Scientific Research Project Coordinatorship (BAP). This study is a part of the corresponding author's Ph.D. Thesis.

References

- [1] M. Edson, O. Yayenie, A new generalization of Fibonacci sequences and extended Binet's formula, *Integers* 9 (# A48) (2009) 639–654.
- [2] S. Falcon, A. Plaza, On the Fibonacci k -numbers, *Chaos, Solitons and Fractals* 32 (2007) 1615–1624.
- [3] S. Falcon, On the k -Lucas numbers, *International Journal of Contemporary Mathematical Sciences* 6 (21) (2011) 1039–1050.
- [4] A.F. Horadam, Basic properties of a certain generalized sequence of numbers, *The Fibonacci Quarterly* 3 (1965) 161–176.
- [5] A.F. Horadam, Jacobsthal and Pell curves, *The Fibonacci Quarterly* 26 (1988) 77–83.

- [6] T. Koshy, *Fibonacci and Lucas Numbers with Applications*, John Wiley and Sons Inc., NY, 2001.
- [7] M.Z. Spivey, Fibonacci identities via the determinant sum property, *The College Mathematics Journal* 37 (4) (2006) 286–289.
- [8] K. Uslu, N. Taskara, H. Kose, The Generalized k -Fibonacci and k -Lucas numbers, *Ars Combinatoria* 99 (2011) 25–32.
- [9] O. Yayenie, A note on generalized Fibonacci sequences, *Applied Mathematics and Computation* 217 (2011) 5603–5611.
- [10] E. Kilic, E. Tan, More general identities involving the terms of $\{W_n(a, b; p, q)\}$, *Ars Combinatoria* 93 (2009) 459–461.
- [11] T. Mansour, A formula for the generating functions of powers of Horadam's sequence, *Australasian Journal of Combinatorics* 30 (2004) 207–212.
- [12] M. El-Mikkawy, T. Sogabe, A new family of k -Fibonacci numbers, *Applied Mathematics and Computation* 215 (2010) 4456–4461.
- [13] T. Horzum, E.G. Kocer, On some properties of Horadam polynomials, *International Mathematical Forum* 4 (25) (2009) 1243–1252.
- [14] J. Atkins, R. Geist, Fibonacci numbers and computer algorithms, *The College Mathematics Journal* 18 (1987) 328–336.
- [15] Z.R. Bogdonowicz, Formulas for the number of spanning trees in a fan, *Applied Mathematical Sciences* 2 (2008) 781–786.
- [16] M.S. El Naschie, The golden mean in quantum geometry, Knot theory and related topics, *Chaos, Solitons and Fractals* 10 (8) (1999) 1303–7.
- [17] M.S. El Naschie, Notes on super strings and the infinite sums of Fibonacci and Lucas numbers, *Chaos, Solitons and Fractals* 12 (2001) 1937–1940.
- [18] L. Marek-Crnjac, On the mass spectrum of the elementary particles of the standard model using El Naschie's golden field theory, *Chaos, Solitons and Fractals* 15 (4) (2003) 611–618.
- [19] M. Ozer, A. Cenys, G. Polatoglu, G. Hacibekiroglu, E. Akat, A. Valaristos, A.N. Anagnostopolous, Bifurcations of Fibonacci generating functions, *Chaos, Solitons and Fractals* 33 (2007) 1240–1247.
- [20] A. Stakhov, Fibonacci matrices, a generalization of the 'Cassini formula', and a new coding theory, *Chaos, Solitons and Fractals* 30 (1) (2006) 56–66.